A

[ele]

2003 4 8

1

WBS 1D ) :
1.1.1 1| 15 81
1.1.2 01
2.1.1 1 2 31
2.1.2 01
2.2.1 3 6 51
2.2.2 01
2.3.1 4 9 41
2.3.2 4 9 41
3.1.1 6 9 41
3.1.2 6 9 1t
3.2.1 0] 12 21
3.2.2 0] 12 31
3.3.1 13| 14 21
3.3.2 13] 14 31
4.1.1 13| 15 3!
4.1.2 4] 15 0!

- —

___________ 6 6._80_0_I

S X Lk

_____ i
11 @1 )2 V|2 @)|2 ol |3 @3 @0

86.7% 500 | 500 | 500 | 500 500 ] 500 | 500 | 500 500
I
1

~100.0% 1,400 | 1,200 | 1,725 ] 1,600 | 1,200 | 1,900 | 500 | 1,100 | 1,200
i

_100.0%1 2,000 | 1,850 | 2,150
i

100 O¥%i

Fixs

100. 0%l

~100. 0%

Fixs

100 0%!

56,741

5]

00!

ol
I

"100.0% 900 [ 900 | 900

~100.0% 2,000 | 2,000 | 2,100
1

_____ |




